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1. The sum of theterms2,3,(=9),7/,4/is
(i) (10/—4) (i) (11/-4) (i) (12/-4) (iv) (11/-2) (v) (11/-7)

2. The value of the polynomial(5t2v2—6tv— v)at t=(-1),u=(-1),v=(-5) is
(i) 99 (ii) 100 (iii)) 101 (iv) 98 (v) 102

3. The value of (—8t—8) +(2¢t—1)is
(i) (—=4t=9) (ii) (=7t=9) (iii) (=5t=9) (iv) (—-6t=9) (v) (—8t-9)
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4. The value of the polynomial(—m“no+90)at m=0,n=0,0=(-4) is

(i) -39 (ii) -37 (iii) -36 (iv) -35 (v) -34

5. The sum of the expressions(4/+8),(2/-4),(/+4),(2/-4),(/+6)is
(i) (10/+8) (ii) (10/+10) (iii) (10/4+12) (iv) (11/4+410) (v) (9/+10)

6. Which of the following terms can be added to(—4m/n2) ?

(i) (=8P m2n) (i) (=3P m?n?) (iii) (=92 mn) (iv) 5/m?n (v) 7/mn?

7. The value of2 (g2 +2r)is

() (2g%2+4r) (i) (2¢%+7r) (i) (g%2+4r) (v) (2g%+2r) (v) (3g%+4r)
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8. The value of3 g 3 g 5 g 4 g is
29 31 33 31 31
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(i) ( >0 g9) (i) ( >0 g) (iii) ( >0 g9) (iv) ( 18 9) (v) ( > g)
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9. The value of - X— X—CcX—Cis
2 4 3 3
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1 1 1 1
(i) ( 12C ) (ii) 4C (iii) 10C (iv) 14(.' (v) C

10. Which of the following algebraic expressions is a constant polynomial?

(i) BK3+K2+5k+9) (i) (TK2=9k—=5) (i) (2k°+2k*+9k3-8k2+4) (iv) (=Tk—4) (v) 5

11. Find the remainder when(x2 +8x+15) is divided by (x—2)

(i) 32 (ii) 38 (iii) 35 (iv) 34 (v) 36
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The value of — (—ef+—¢e)is
53 2

(i) Sef (i) (eftoe) (i) (eftoe) (V) (—efiee) (v) (—eft e)
15 15 5 13 5 15 5 175

The degree of the polynomial (2r+4) is
(i) 1 (i) 2 (iii) 0 (iv) 3 (v) (-1)

The remainder when(4g3 +7g2 —69g—06)is divided by(g—8) is
(i) 2442 (ii) 2441 (iii) 2439 (iv) 2445 (v) 2443
Which of the following algebraic expressions is a quadratic polynomial?

(i) 7 (i) (7y°=7y>—6y2+3y—6) (i) (=7y—8) (iv) (7y3—-3y2+4y—6) (v) (-9y°—8y+8)

Which of the following is a like term of u% 2 ?

() 5v2 (i) u (i) (=8u%Vv2) (iv) 3uv (v) (=12v)

1 1 1 .
The value of =W X — X —Ww s
2 2 3

1 1 1
N2 (i 2 iy —u2 (i _ 2
(i) 10W (ii) 12W (iii) 4W (iv) ( 12W ) (v) 14W

The value of (=562) —6b% —(—4b2) is

(i) (=7b2) (i) (=6b2) (iii) (—=10b2) (iv) (—8b2) (v) (—4b?)

Which of the following terms can be added to Qutv? ?

() (=2t2V2) (i) (=282u2V2) (i) 3tuv? (iv) 3£20%v (v) (—tuv)

The coefficient of term op2 in ponnomiaI(9no,o+702,02 +30° +50p2 +3)is

(i) 3 (i) 4 (ii) 5 (iv) 8 (v) 6

The quotient when (—2d3 —80d%+2) is divided by (d+7) is

(i) (d?+6d—-42) (i) (=3d%+6d-42) (i) (=2d°+6d-42) (iv) (—d?+6d—42) (V) (=502 +6d—42)

1 1 1 1
The value of =b2c2 + =bp2c2 + —b2c2 + =b22 s
3 5 3 3
6 4 6 8
(i) -5b2c2 (i) 26222 (iii) 5b2c2 (iv) 7b2c2 (v) 5b2c2

Which of the following terms can be subtracted from(—6u) ?

(i) (=5u) (ii) (=5tu?v2) (i) 4v (iv) 9242V (v) 682V



24. The value of (=6k°) —6k> —(—=5k°) is

(i) (—7k2) (i) (—8K>) (iii) (—6k°) (iv) (—4Kk) (V) (—9K°)

25. The degree of the polynomial(—9u2+8u+4) is

(i) 2 (i) 3 (i) 1 (iv) (-1) (v) 4



Assignment Key

1) (i) 2) (ii) 3) (iv) 4) (iii) 5) (ii) 6) (v)

7) (i) 8) (ii) 9) (v) 10) (v) 11) (iii) 12) (ii)
13) (i) 14) (i) 15) (v) 16) (iii) 17) (ii) 18) (i)
19) (iii) 20) (iii) 21) (iii) 22) (i) 23) (i) 24) (i)
25) (i)
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